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QUESTION 1

Which configuration setting ensures that virtual networks on a virtual switch are isolated from each other?
A. Port ID

B. Network Label

C. Security Policy

D. VLAN ID

Correct Answer: D

QUESTION 2

Which object-based storage can be used to store virtual machines?
A. NFS

B. vVWols

C.RDM

D. VMFS

Correct Answer: D

QUESTION 3

An administrator wants to ensure that a copy of a virtual machine can still power up on another data center during a
disaster.

Which feature meets this requirement?
A. vSphere Replication

B. vMotion

C. vSphere High Availability

D. Fault Tolerance

Correct Answer: A

QUESTION 4

An administrator needs to separate traffic of virtual machine live migrations from all other traffic. Which TCP/IP stack
meets this requirement?
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A. Fault Tolerance logging TCP/IP stack
B. Provisioning TCP/IP stack

C. vMotion TCP/IP stack

D. Management TCP/IP stack

Correct Answer: C

QUESTION 5

An administrator is trying to create an alarm action that runs a batch file on a specific VM. Which alarm action should the
administrator use?

A. Run a powerCLI command
B. Run script

C. Send SNMP traps

D. Send email notifications

Correct Answer: B

QUESTION 6

Which feature helps maintain zero data loss when a VM on an ESXi server fails unexpectedly?
A. vMotion

B. Fault Tolerance

C. Storage vMotion

D. vSphere High Availability

Correct Answer: B

QUESTION 7

An administrator notices a virtual machine named vmoO1 is missing from the inventory, but the configuration files can be
located.

Which file should the administrator click on to register the VM?
A. vm01l.vmdk
B. vm0O1.vmsd

C. vmOlvmx

Latest 1V0-21.20 Dumps | 1V0-21.20 PDF Dumps | 1V0-21.20 Exam Questions 3/6


https://www.pass2lead.com/1v0-21-20.html
https://www.pass2lead.com/1v0-21-20.html
https://www.pass2lead.com/1v0-21-20.html

P 2L d https://lwww.pass2lead.com/1v0-21-20.html
aSS ea 2023 Latest pass2lead 1V0-21.20 PDF and VCE dumps Download

—— https://Pass2Lead.com

D. vmO1.nvram

Correct Answer: C

QUESTION 8

An administrator is asked to copy a single hard disk from one datastore to another. Which virtual machine Hie type
should the administrator select?

A. vmdk
B. vswp
C. vmx

D. vmss

Correct Answer: A

QUESTION 9

Which vSphere component centralizes automated patch and version management for clusters. ESXi. drivers and
firmware. Virtual Hardware, and VMware Tools?

A. vSphere DRS

B. VMware Cloud Foundation
C. Content Library

D. vSphere Lifecycle Manager

Correct Answer: D

QUESTION 10
A vSphere operator discovers a storage problem with the following PDL error message:

Permanently inaccessible device:naa.6000eb31dffc33a0000000000000063 has no more open connections What should
the operator conclude from this error message?

A. A storage device is disconnected, bit it is treated as a transient issue.

B. A storage device has failed and is not expected to become available.

C. A storage device has failed and is expected to become available.

D. A storage device is disconnected, but it can be reconnected by a host reboot.

Correct Answer: B
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QUESTION 11

An operator must deploy three virtual machines from a template named Win10-Template, and all three VMs must be
configured with unigue computer names.

Which action must the operator take to achieve this goal?

A. Clone Win10-Template three times, and then change the computer name in each clone.
B. Export Win10-Template to the local filesystem, and then change the computer name.
C. Use a Windows 10 customization specification when deploying the virtual machines.

D. Create the virtual machines using the New virtual Machine wizard.

Correct Answer: C

QUESTION 12

A vSphere administrator is unable to remove an ESXi host from a vSphere Distributed Switch (VDS). Which two
reasons could have caused this issue?

A. The VDS is configured with ingress traffic shaping.

B. Virtual machines network adapters on the host are connected to the switch
C. Virtual machine network adapters are faulty.

D. The ESXi host is connected to another VDS.

E. The ESXi host had VMkernel adapters assigned to the switch.

Correct Answer: BD

QUESTION 13

Which two guest operating systems are supported when a virtual machine must be deployed?
A.i0S

B. Microsoft Windows

C. Android

D. MacOS

E. T/TOS (tandem Transactional OS)

Correct Answer: BD
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QUESTION 14

Which action should an administrator use to restore a virtual machine to a previous state?
A. Consolidate snapshot

B. Revert to the latest snapshot

C. Delete all snapshot

D. Take snapshot

Correct Answer: B

QUESTION 15

Which problem is solved by migrating virtual machines (VMs) using vSphere vMotion?
A. A vSphere cluster that needs to be upgraded without any VM downtime.

B. A problem that occurred during VM patching and a roll-back is needed.

C. The names of the VM files that do not match the inventory name of the VM.

D. Heavy storage traffic and latency that are concentrated in a few datastores.

Correct Answer: C
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